Bid# 54-CA-14-12127059 - Tree Service (Haywood, Jackson,	and Swain Counties)	
Bid Opening: May 16, 2024	SBE Certification Required?	Yes
Procurement Specialist: Christian Andresen	Prequalification Required?	No
Witness: Mike Beaver	Mandatory Pre-Bid Conference?	No

Vendor 1	Item	Description	QTY	Unit	Unit Price	Extended Price
DanGrady Company LLC						
		Emergency Call				
		Back				
	1	Mobilization	10	EA	\$350.00	\$3,500.00
		Standard Tree				
	2	Crew	1,000	HR	\$185.00	\$185,000.00
	3	Sawman	750	HR	\$55.00	\$41,250.00
	4	Bucket Truck	160	HR	\$195.00	\$31,200.00
	5	Stump Grinder	32	HR	\$200.00	\$6,400.00
		Brush Chipper				
	6	with Truck	160	HR	\$275.00	\$44,000.00
	7	Grapple Truck	400	HR	\$175.00	\$70,000.00
		Skid Steer				
		Loader with				
	8	Grapple	160	HR	\$110.00	\$17,600.00
		Skid Steer with				
		Mulching Head	160	HR	\$250.00	\$40,000.00
	10	Excavator	240	HR	\$155.00	\$37,200.00
	11	Tree Trimmer	160	HR	\$450.00	\$72,000.00
		Tipping Fees	7,000		\$1.00	\$7,000.00
	13	Lane Closure		EA	\$2,500.00	\$75,000.00
	14	Flagger (Daily)	320	MD	\$300.00	\$96,000.00
	15	Tree Climbing	500	HR	\$75.00	\$37,500.00
Total Bid for Project:						\$763,650.00
						\$758,150.00

Vendor 2						
		Emergency Call				
		Back				
Burchfield's Tree Service	1	Mobilization	10	EA	\$1.00	\$10.00
		Standard Tree				
	2	Crew	1,000	HR	\$95.00	\$95,000.00
	3	Sawman	750		\$35.00	\$26,250.00
	4	Bucket Truck	160	HR	\$110.00	\$17,600.00
	5	Stump Grinder	32	HR	\$60.00	\$1,920.00
		Brush Chipper				
	6	with Truck	160	HR	\$10.00	\$1,600.00
	7	Grapple Truck	400	HR	\$160.00	\$64,000.00
		Skid Steer				
		Loader with				
	8	Grapple	160	HR	\$110.00	\$17,600.00
		Skid Steer with				
	9	Mulching Head	160	HR	\$110.00	\$17,600.00
	10	Excavator	240	HR	\$110.00	\$26,400.00
	11	Tree Trimmer	160	HR	\$160.00	\$25,600.00
	12	Tipping Fees	7,000	DOL	\$1.00	\$7,000.00
	13	Lane Closure	30	EA	\$200.00	\$6,000.00
	14	Flagger (Daily)	320	MD	\$1.00	\$320.00
	15	Tree Climbing	500	HR	\$50.00	\$25,000.00
Total Bid for Project:						\$331,900.00
Vendor 3						
Justin Odom DBA Clean Cuts Tree Service						
		Emergency Call				
		Back				
	1	Mobilization	10	EA	\$325.00	\$3,250.00

		Standard Tree				
	2	Crew	1,000	HR	\$135.00	\$135,000.00
	3	Sawman	750	HR	\$55.00	\$41,250.00
	4	Bucket Truck	160	HR	\$125.00	\$20,000.00
	5	Stump Grinder	32	HR	\$30.00	\$960.00
		Brush Chipper				
	6	with Truck	160	HR	\$30.00	\$4,800.00
	7	Grapple Truck	400	HR	\$170.00	\$68,000.00
		Skid Steer				
		Loader with				
	8	Grapple	160	HR	\$115.00	\$18,400.00
		Skid Steer with				
	9	Mulching Head	160		\$122.00	\$19,520.00
	10	Excavator	240	HR	\$112.00	\$26,880.00
	11	Tree Trimmer	160	HR	\$172.00	\$27,520.00
		Tipping Fees	7,000		\$1.00	\$7,000.00
	13	Lane Closure	30	EA	\$300.00	\$9,000.00
		Flagger (Daily)	320	MD	\$3.00	\$960.00
	15	Tree Climbing	500	HR	\$60.00	\$30,000.00
Total Bid for Project:						\$412,540.00
Vendor 4						
		Emergency Call				
		Back				
South Mountain Land Works, LLC	1	Mobilization	10	EA	\$500.00	\$5,000.00
		Standard Tree				
		Crew	1,000		\$100.00	\$100,000.00
		Sawman	750		\$35.00	\$26,250.00
		Bucket Truck	160		\$175.00	\$28,000.00
	5	Stump Grinder	32	HR	\$100.00	\$3,200.00
		Brush Chipper				
	6	with Truck	160	HR	\$100.00	\$16,000.00

0,000.00
6,000.00
0,000.00
4 000 00
4,000.00
4,000.00
1,200.00
7,000.00
5,000.00
8,000.00
5,000.00
8,650.00
9,150.00
2 3 1 1

_	_		
-			